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DVD11
D1N4007

QVT3
Q2N3903

C4
0.47uF ic=-30

CVS2
330nF QVT4

Q2N3903

CVS1
330nF

R5
1.5k

Vtr1

AC = 1v

TRAN = SIN(0v {1.414*Ks*17.5v} 50Hz 0s 0ds 0d)

DC = 20v

DVD4
D1N4007

DVD10
D1N4007

DVD8
D1N4148

CAcc
1_F ic=11v

QVT2
Q2N3905

DVD7
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DVD3
D1N4007

DVD12
D1N4007

PARAMETERS:
Uset = 220
Ks = {Uset/220}

XVS1
2N2575

R7
9400*

DVD1
MR1396

R6
1.8k

RAcc
0.01

Vtr2B

AC = 1v

TRAN = SIN(0v {1.414*Ks*27v} 50Hz 0s 0ds 0d)

DC = 20v

QVT1
Q2N4918

DVD6
D1N4148

Vtr2A

AC = 1v

TRAN = SIN(0v {1.414*Ks*27v} 50Hz 0s 0ds 0d)

DC = 20vR8
4.7k

DVD2
MR1396

R1
12

DVD9
D1N4007

QVT5
Q2N3903

R11
{2.2k+13k}R9

47k

R2
10m

Rtr1 0.174

DVD5
D1N4148

R10
47k

XVS2
2N2575




